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1) ROGHEZEHTLESL, (2R X10&E)

1)

3)

5)

7

9)

2. 4+3. 61

6.4+4.7

3.9+1. 87

81.5+9.7

413.2+29. 8

2) 1.2-0.8

4) 0.45-0.17

6) 9.9-0.68

8) 7.3-5.81

10) 0.5-0.24
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1)

3)

5)

7
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3) ROHEEZEHETLASL, (2R X108)

1)

3)

5)

7

9)

4.8+1.5

2.1-1.8

83.2+14.9

0. 66—0. 48

5.7+12.9

2) 7.41-3.69

4) 0.15+1.83

6) 341.2-165.7

8) 0.095+0. 36

10) 32.04-—18.5
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7
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A

B
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3.8—1.6-1.7

513. 2+142. 8+276. 3
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5) ROHEEZERETLASL, (2R X108)

1) 0.47+11.3 2) 23.1-1.76

3) 1.6-0.95 4) 60.5+137.4

5) 9.3—4.5-0.26 6) 0.801—0.179+5. 1
7) 12—-3.4-6.25 8 7.4+2.6+3.5

9) 5.5+1.3-3.4 10) 35.2—-17.16+9. 4
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1) 6.01 2)
6) 9.22 7)
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1) 47.5 2)
6) 21.65 7)

4.3
0.5

3) Kig—EE (2R x108)

1) 6.3 2)
6) 175.5 7

3.72
0.18

4) KE—RE (2Rx10%#)

1) 0.26 2) 2.5
6) 2.89 7) 51.3

5) &E—ME (2R X108

1 11.77 2)
6) 5.722 7)

3) 11.1 4)
8) 1.49 9) 443

3) 6.44
8 1.37 9

21.34 3)
2.35 8) 13.5 9)

0.28 5)
10)
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4) 34 5)
1.4
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10)

3) 0.3 4)
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A =

3) 31.68 4)
8 0.5 9

67. 1 5)
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0.65 4) 197.9 5)

3.4

5. 77
0. 26

0. 265

10) 925. 96

98. 1
13. 54

1. 63
932. 3

4.54

10) 27. 44



